oooooooool-0AD0pal

OAD Javal U000 oooooooon
oot

COJaval OO TCRIPODDOODODOOOOO oobobobooboobuoooobogoo
O TCRIPOOODOOOOLOOODOOOODOODOODOOODO
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0000 TCP_RO.java
import java.net.¥;
import java.io.¥;

public class TCP_RO {
public static void main(String[] argv) {
try {

Socket readSocket = new Socket(argv[0], Integer.parseInt(argv[1]));

InputStream instrm = readSocket.getInputStream();

while(true) {
int ¢ = instrm.read();
if (c==-1) break;
System.out.write(c);

} catch (Exception e) {
e.printStackTrace();
System.exit(1l);

oooobooobogooobo TecpPOoU0obOooooboOOooboboOoboooDOob0OoDOODOD

java TCP_RO UDOOO0OO0O0OO OODOO

OODDb00O000DSecketODO0OO0OOOODODOOOOOODODOOODDODOOODIP

ooooooooooooooooon
00 SocketOO OO0 QOO 00000 0O InputStream0 0 00 00O 0O

Uo0ooobobDb00OoO0D InputStreamJ 0000 0000D0O0O00ODOOO System.inJO O
gboboooobobobooon
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gbooogoogd

while(true) {
int ¢ = instrm.read();
if (c==-1) break;
System.out.write(c);

}

gbooooooooboogobooboboboooooboobooobooobobooobogoo

byte[] buff = new byte[1024];
while(true) {

int n = instrm.read(buff);

if (n==-1) break;

System.out.write(buff, 0, n);
}

O0OooooooDoOo0bOobCOobOOboODbOoObobOO0Ob0 10240000 000000000 InputStream
U000 readQ DD OO0 DOO0OODOO00O0DO00O0OOread(byte[]1D DOUODODOOO0ODOOODOO
goobogoooboooboboooooboobbbomuboboooooooooooo
U0 BufferedReader 0 DO OO0 ODODOODOOOOOO0OOOODOODODOODODOD

00000000 main0D0O0000000 tryUJcatchOOODOOOOO0OOODOOODOOOODOO
Uoobob00b00ODbDO0OD000ExceptionU gbooooobooooooon
gbooooooomoboboooooobooboooobooooboobooooooooooooo
obooooooobobon

00 A1200000000TCPMOOOO
00 00 TCP_RWjava

import java.net.*;
import java.io.¥;

public class TCP_RW {
public static void main(String[] argv) {
byte[] buff = new byte[1024];
try {
Socket rwSocket = new Socket(argv[0], Integer.parseInt(argv[1]));
InputStream instrm = rwSocket.getInputStream();
OutputStream outstr = rwSocket.getOutputStream();
while(true) { // 00000000000
int n = System.in.read(buff);
if (n==-1) break;
outstr.write(buff, 0, n);

}

while(true) { // 00000000000
int n = instrm.read(buff);
if (n==-1) break;
System.out.write(buff, 0, n);

}

} catch (Exception e) {
e.printStackTrace();
System.exit(1l);
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Socket 000 OO UoooooondoutputStream0 0 00000000
outstrJ 0000000 outstrD write(byte[], int, int) 00000000000 0O0O0ODO
O000Owrite(buff, i, nO0O000000 buffO000OCOIOO00O0 nOCOOOOODO
gooooooboobobboooooboonon

java TCP_RW J0O0O0OO00O OODOO

OO0 so0O HTTPOOOOOOOOWebD OOOODOCODOOOOOOOOOOOOOOOOOD
goog

> java TCP_RW 133.92.XXX.XXX 80«

GET /index.html HTTP/1.0«

«—~ 00 « 0000000 ctrl-c 000 Ctrl-DO
HTTP1.1 200 OK

Date: Mon, XX Xxx 2XXX XX:XX:XX GMT

Server: Apache/X.X

gooooboogboooooboobbbobooobbbboooooboobbobbobboboo
O Cul-CO Windowds1 OO O, Ctul-DO UnixO OO OO OOO0OO0O “O0000000COCOO"DO0OO
goobooo“oobooboboboo"oboboogobo

OAl3uURLODOOOOOOOOOODOODOOOOOATTPODOOODOODOOOOODDOOO
O000o0DbO000o0ogDn simpleGetD OO OODOO O

simpleGet http://133.92.XXX.XXX/index.html

U000 index.htm1 OO OO 0ODOOO0D0ODODOOO

OAl4URLODOODOOOOODOOOOOOOOODOAHTTPODODOODOODODODOODODOOOOO
<a href="...">0000000000000MO000: Java.lang.String0 0000000 O
do0dddood2000000000000000O0O0DO000DO0DOD000000OO0ODDOd
oodooolovd 000D oooooooono O

0 A15 simpleChmod OO0 OO0O0OO0OO0OO0OOOOOOFTPOOOOOOCODOOOOCOOO chmod
0000000 simpleChmodl 00O O
oooad

java simpleChmod 660 ftp://stfile/home/Report/ ...

1(JDKDIR)/docs/api/java/lang/String.html O O
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00000000000000 TensoOODOM ODOO: Java.io.FileO0OO?000000000
nooobodobooboooouoobooooobooooon

0 A.l1.7 java.lang.Console D0 O OO0 readPassword D0 OO0 0D O00OOOOOOOOOOO
simpleChmod TensoO OO OO O0O0OOO0OOO0OOOOOOODOOOOOODOOOOOOO

A2 0J000O0O0ODOoOoooooooood

ooooooboooooodg . o0dd gooopooboooboooooo
gbobobobooobboboboooooooooooobbbooooobooooboooboooooo
uoboboboooouoooboooooobooooooooooouoboooooboboboboooonon

ooo  Ooooooooododgooodo gboboooooood
gboboobogobobooboobobooobbboobooobobooooboboDboOoOoo
uooobobobooboooboobobooobooobooboboooboobobobooooboooo

00 A210000C0000DOvuDPMDOOOCOOOO

00O 00 UdpClient.java

import java.net.*;
import java.io.*;

public class UdpClient {
public static void main(String[] argv) {
try {
// 0000 IPOO0DOODOOOODOO
InetAddress addr = InetAddress.getByName(argv[0]);
int port = Integer.parselnt(argv[1]);

// 00000000000 0000O0000O00
DatagramSocket dgSock = new DatagramSocket();
while (true) {
byte buffl[]= new byte[512];
int n = System.in.read(buffl);
// 0000o00ooao
DatagramPacket pal = new DatagramPacket(buffl, n, addr, port);
dgSock.send(pal); // OO0OOOO
System.out.println("Sent!");

// 0000000000000 00

byte buff2[] = new byte[512];

DatagramPacket pa2 = new DatagramPacket(buff2, buff2.length);
dgSock.receive(pa2); // O0O0OOO0O
System.out.printf("received: %s", new String(pa2.getData()));

} catch (Exception e) {
e.printStackTrace();
System.exit(1l);

2(JDKDIR)/docs/api/java/io/File.html O O
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java UdpClient DO OO0OOO0O OO0OODODO

goon
OO0D00O0O DatagramSocket U DD UO0OUOUO0O0O0OODOODODODODOOOODODOO UDPO
U000000b00000000 DatagramPacketJ D OO0 0000 OO0ODODOODOOOOOO

DatagramPacket(byte[] data, int len, InetAddress addr, int port)

0000000000000 000 IenO000O00O0OO0IPOOOO addrOOOO0ODO0O port
0000000000000 oboobobb0ob0oUuno0dd DatagramSocket 00 00O
send(DatagramPacket) DO OO OO OO

DatagramPacket (byte[] data, int len)

00000 2000000000000DLOO00DOO0ODOOODOOOOOOODOOOOOObDOODOO
0O0000oobooooO0ooooOd DatagramSocket 0 00 receive O OO OO0 Oreceive
0000 O ODbatagramPacket 10 00000000 0OOOOODOOOOOreceiveO OO0 oo
00000000 oooooboboobooooooooono

00 A220000000000vuDPMOOODO

00O 00 UdpServer.java
import java.net.*;
import java.io.*;

public class UdpServer {
public static void main(String[] argv) {
try {
int port = Integer.parselnt(argv[0]); // O000O0O0O0OOOO
// 00000000000 O0DOO0000Oad
DatagramSocket dgSock = new DatagramSocket(port);
while (true) { // 0000000000O00000O4d
byte buffl[]= new byte[512];
DatagramPacket pal = new DatagramPacket(buffl, buffl.length);
dgSock.receive(pal); // O00O0OOO0O
System.out.println("Received!");
System.out.print(new String(pal.getData()));
System.out.println("addr: %s%n port: %s¥%n",
pal.getAddress(), pal.getPort());

// 0odooooooo
DatagramPacket pa2 =
new DatagramPacket(pal.getData(), pal.getLength(),
pal.getAddress(), pal.getPort());
dgSock.send(pa2);
System.out.println("Sent!");

} catch (Exception e) {
e.printStackTrace();
System.exit(1l);



Programs/UdpServer.java�

goooooboooIl-0 A0 p6 OAD JavabOOOUOOOOoOOOODOODDODOODD

goooboobboooooooobobooogbobboobobooboooobobobobobobbn
000 int0 00 DatagramSocket U OO0 DOOODODOODOOOODODOO
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00000 DatagramPacket0 U getData U000 OO0 000000 DO0O0O0OOODOOOOO0OO
getAddress, getPort U U O 0O0O0O0O IPOOODDOOODOOODODOOODODOODO

gboogooobboobooobobbobooobobobooboobbobobboobbooooooo
gogooboooooo

0 A23000000
goooooobobobbobobbonbo

0OA2400000000000
uboooooboooobooboooubogaooooo

0O A25000000D00000000DO00O
gobooooogbooooobobooooooboooboboobobobobboooob o
oooobooboboooieonbboonoooon

FORWARD 100

RIGHT 120
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gbogoobbooooobobooooooobooooooboboboooboooobboboboo
ooooooooobooboooooooboooooobooooboooboooD*Oo"obo0ooboooo
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00000 0O0000Socket OO O OgetInputStream OO0 OO OgetOutputStream OO OO O
DatagramSocket [J [ O ODatagramPacket O O Osend OO0 OO Oreceive OO OO OgetData U
000 OgetAddress 00O OO OgetPort 00O OO



